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Seat
No.
B.Com. — | (Semester — 1) (CGPA) Examination, 2015
ENGLISH COMPULSORY
‘On Track’ English Skills for Success
Day and Date : Tuesday, 20-10-2015 Max. Marks : 70

Time : 2.30 p.m. t0 5.00 p.m.

N.B. : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Rewrite the following sentences by choosing the correct alternative : 14
1) The name of the policeman on the beat was
a) Jimmy Porter b) Jimmy Wel
c) Jimmy Mail d) Jimmy Wells
2) Twenty years ago Jimmy and Bob dined at restaurant.
a) Big John Bradly’s b) Big Joe Brady’s
c) Big Brothers d) Big Boss Brandy’s
3) Miss Krishna had spent all her life looking after an ailing
a) mother b) brother c) father d) sister
4) The narrator of the story “‘The Connoisseur’ is
a) Rina Dalal b) Nergis Dalal
c) RinalLal d) Nergis Lal
5) Mr. Binet was the psychologist who developed
a) Computer software b) 1Q test
c) GKtest d) Aptitude test
6) The essay, ‘The Myths of Artificial Intelligence’ is written by
a) Attia Hosain b) O.Henry
c) Attila Narin d) Nergis Dalal
7) Inthe poem ‘Bangle Sellers’ the speaker is
a) ayoung unmarried woman b) a married woman
c) acustomer d) Bangle seller

P.T.O.



SLR-Y -1 2- ARV AR

8) The bangle seller carry the load of shining bangles to the

a) village fair b) city fair
c) temple fair d) none of the above

9) The speaker in the poem ‘An Irish Airman Foresees His Death’ is
a) The British Airman b) The Jewish Airman
c) The American Airman d) The Irish Airman

10) Geeta and Gampu have come to see her.
The underlined word is

a) Pronoun b) Collective noun

c) Mass noun d) Common noun
11) I gotoschool bus.

a) buy b) bye

c) by d) none of the above
12) Kalidasis Shakespeare of India.

a) the b) a c) an d) no article
13) Let'sgoon picnic today.

a) the b) a c) an d) no article
14) The eggs were the nest.

a) in b) inn c) by d) off

2. Answerany seven of the following questions intwo or three sentences each: 14
1) What was the policeman constantly doing with his stick ?
2) Why does Jimmy send another policeman to arrest Bob ?

3) Why did the narrator consider Miss Krishna an annoying guest ?

5

6) How can you define ‘intelligence’ ?

What are the areas in which the computer is much faster than a human brain ?

)
)
)
4) What is the meaning of the title ‘Connoisseur’ ?
)
)
7) What colours of bangles are suitable for a maiden’s wrists ?
)

8) How does the speaker imagine he will die, in the poem ‘An Irish Airman
Foresees His Death” ?
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3. A) Write paragraphs of aboutten lines on any two of the following : 8
1) Drugs and Youth
2) Terrorism :irrational and inhumane
3) Preserve Nature.
B) Answer any two of the following questions briefly : 6
1) How does the poet describe the faithful wife who is now middle-aged ?

2) What is the shocking discovery made by Miss Krishna’s sister and the
narrator together ? How does this reveal Miss Krishna'’s real character ?

3) What sort of relationship did Bob and Jimmy share ?

4. Write an essay on any one of the following topics : 14
1) The problem of city slums and possible humane solutions.
2) Importance of games in life.

5. Read the following passage and make notes of it. Use an appropriate title for
your notes : 14

The basic aim of a TV ad is to push a product through the market. This is done
through a mix of information, education, entertainment, appeals to the instinctive
behaviour and above all, a touch of creativity. The magical world of advertising
has captured many a heart. Most TV viewers, for instance, will admit that they
enjoy the ads that precede the programmes much more than the programmes
themselves. The captured hearts develop a lingering desire for the products
advertised. The viewers are also effectively influenced to try out the product.
The hidden messages of a TV ad, viz., appearance, poise, voice modulation, tilt
of the eyebrow, the innocent smile, the fancy and blinkings, body languages and
gestures — profoundly influence people’s attitudes, shape their opinions, stimulate
demand, effect brand-switching reinforcement and so on.
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Seat
No.
B.Com. — | (Semester — I) (CGPA) Examination, 2015
PRINCIPLES OF BUSINESS MANAGEMENT
Day and Date : Wednesday, 21-10-2015 Max. Marks : 70

Time : 2.30 p.m. t0 5.00 p.m.

Instructions: 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.

1. Select the most appropriate alternative from given alternatives. 14
1) Planningis the process.
a) Ordinary b) Less-intellectual
c) Intellectual d) All of the above
2) and Responsibility are the two sides of the same coin.
a) Discipline b) Direction
c) Control d) Authority
3) is Art, Science and Profession.
a) Organisation b) Planning
c) Management d) Controlling
4) Generally the period five years or more is treated as a planning.
a) Short-term b) Long-term
c) Administrative d) Overall
5) The selection based on some criteria from two or more alternatives is called as
a) Planning b) Organising
c) Decision-making d) Administration
6) is the process of grouping of activities necessary to accomplish
goals and objectives.
a) Planning b) Organising c) Motivating d) Controlling

7) The number of persons that can be effectively supervised or controlled by
one person (boss) is called

a) Span of control b) Planning
¢) Communication d) Controlling

P.T.O.
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8) Systematic delegation of authority in an organisation is called as

a) Centralisation b) De-centralisation
c) Division of labour d) Departmentation
9) of policies and decisions is the responsibility of management.

a) Determination b) Setting
c) Execution d) None of the above

10) The first stage in the process of decision-making is
a) To find out the alternatives b) To find out remedies
c) Toidentify the problem d) None of the above

11) Operation Research technique is used in process.
a) Planning b) Organising
c) Decision-making d) Motivation

12) approach suggests that the task of managers is to try to identify
which technique will, in a particular situation best contribute to attain goals.
a) The Contingency b) The Systems
c) The Behavioural d) All of the above

13) The power to make decisions which guide the actions of others is called
a) Responsibility b) Relationship ¢) Authority d) Organisation

14) Plans required to support the basic plan are plans.
a) Longterm b) Shortterm c) Strategic d) Derivative

2. Write short notes on : 14

a) Line and staff organisation.
b) Decisions under certainty and uncertainty.

3. Answer in brief : 14
a) Importance of strategic planning.
b) Development of management thoughts.

4. Explain the concept of management. State the functional areas of management. 14
OR

Explain the meaning of ‘Planning’. Explain the process of ‘Planning’ in detail.

5. What is ‘Organisation Structure’ ? Explain in detail the functional type of
organisation. 14

OR
What is ‘Decision-making’ ? Explain the effective Decision-making process.
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Seat
No.
B.Com. (Part — I) (Semester — I) (CGPA) Examination, 2015
FINANCIAL ACCOUNTING
Day and Date : Friday, 23-10-2015 Max. Marks : 70

Time : 2.30 p.m. t0 5.00 p.m.

Instructions: 1) All questions arecompulsory.
2) Out of Q. 4 (a) and Q. 4 (b) solve any one.

3) Out of Q. 5 (a) and Q. 5 (b) solve any one.
4) Figures to the right indicate full marks.

1.1) Insolvency can be defined as 14
a) Not having cash b) Beingilliquid
c) Aninability to pay one’s debts d) Aninability to increase one’s debts
2) Meaning of Net Assets is
a) Total Assets — Total Liabilities b) Fixed Assets + Current Assets
c) Total Assets — Current Liabilities d) Total Assets — Outside Liabilities

3) In an event of conversion, all assets of firm are transferred to Realization

Account at
a) Realisable value b) Market value
c) Book value d) Agreedvalue

4) Assets taken over by the partner is debited to

a) Realisation Account b) Assets Account
c) Partners Capital d) Allthe above
5) The Presidency Town Insolvency Act was passed in year.
a) 1909 b) 1920 c) 1809 d) None of the above
6) The first legislation in India relating to co-operative societies was passed in
the year
a) 1909 b) 1920 c) 1904 d) 1960

P.T.O.
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7) According to Maharashtra Co-Operative Societies Act 1960, a co-operative
society should prepare a Profit and Loss Account and a Balance Sheet as on

31s'March of each year, within day of the closure of the accounting
year.
a) 42 b) 84 c) 90 d) 45

8) Which English alphabet is similar to the shape of an account ?
a) | b) T c) H d) None

9) According to Rule every co-operative society is required to
maintain certain books of accounts and registers.
a) 60 b) 65 c) 75 d) 85

10) Taxes due to local government authority are
a) Secured creditors b) Unsecured creditors
c) Preferential creditors d) Fully secured creditors

11) The accounts of co-operative societies are prepared in the form.
a) M b) O c) N d P

12) Under the Presidency Town Insolvency Act rent due to landlord is preferential
for a period of

a) Two months b) One month
c) Three months d) Four months

13) Purchase consideration receivable from limited company is credited to

a) Realisation Account b) Partners Capital Account
c) CashAccount d) Allthe above
14) Double entry system was propounded by
a) Chanakya b) Lee c) LucaPacioli d) Allthe above
2. Write short notes (7 marks each) : 14

A) Branches of accounting

B) Purchase consideration

3. A) Write short notes on preferential creditors 7

B) Deficiency Account 7
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4. A) Mr. Dinesh is adjudged as insolvent on 30" September 2014. From the following
particulars prepare Statement of Affairs and Deficiency Account.

Particulars
Book Debts :

Good 35,000

Doubtful and bad (estimated to produce Rs. 2,000) 10,000
Shares (estimated to realize Rs.16,000) 15,000
Stock (estimated to realize Rs.40,000) 60,000
Cash at bank 100
Bills receivables (estimated to realize 100%) 1,400
Factory building (estimated to realize Rs.11,000) 20,000
Machinery (estimated to realize Rs.12,000) 15,000
Fixtures (estimated to realize Rs.1,500) 3,000
Motar car (estimated to realize Rs.6,000) 9,000
Creditors for goods supplied 80,000
Bills payables 10,000
Creditors secured by lien on shares 40,000
Creditors secured by lien on stock 15,000
Liability on bills discounted (estimated to rank Rs.3,000) 7,000
Mortgage on factory building 10,000
Creditors for rent, rates and taxes (preferential) 3,000

Mr. Dinesh started his business on 1-1-09 with capital of Rs. 50,000. During

the six years profits were made totaling Rs. 55,000 and losses were incurred
totaling Rs. 25,000 after allowing Rs. 3,000 per year as interest on capital.

His total drawings amounted to Rs. 88,000. 14

OR
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B) From the following Trial Balance as on 31-12-2014, prepare Final Accounts of
Aditya Co-op. Credit Society in the prescribed form.

Particulars Debit Particulars Credit
Rs. Rs.
General expenses 150  Share capital 23,000
Loans and advances 28,000 Share transfer fee 250
Loose tools 5,000 Reserve fund 5,000
Fees of committee members 800 Debentures 4,000
Salary of staff 2,200 Interest 22,625
Contribution to provident fund 400 Deposits 10,000
Bank charges 300 Bankloanunsecured 5,000
Postage and telegrams 150  Staff provident fund 1,000
Audit fee 750 Rebate received 350
Printing and stationery 615 S. creditors 600
Travelling expenses 175 Commission received 600
Interest paid 2,250 Dividend 150
Building 17,500 Sale of forms 215
Investment in shares of P & L Account 1,000
other society 5,500
Sundry debtors 6,000
Staff provident fund investment 1,000
Cash and bank balance 2,000
Rent and taxes 1,000

73,790 73,790
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Adjustments:
1) Interest due but not paid Rs. 250
2) Interest accured due but not received Rs. 625
3) Salary payable Rs. 250 and prepaid taxes Rs.100
4) Stock of stationery on 31-12-2014 amounted to Rs. 65
5) Directors decided the following :
i) Transfer Rs. 500 to members welfare fund

ii) Transferto education fund Rs.100

iii) Dividend to shareholders at 6% p.a. 14

5. A) From the following details, prepare the Receipts and Payments Accounts
and Balance Sheet of AB and Co.Chartered Accountant for the year ending

31-12-2014.
Balance Sheet as on 31-12-2013
Liabilities Rs. Assets Rs.
Capitals : A—13,000 Motor car 8,000
B—-9,000 22,000 Office equipments 3,500
Outstanding Establishment Charges 250 Furniture 4,000

Provision for outstanding auditfees 4,500 Outstanding Audit fee
A,s client—2,000
B,s client —2,500 4,500

Advance audit fee received-A,sclient 500 Cashinhand 750
Clients accounts 1,000 Cash atbank 6,250
Library 1,250

28,250 28,250
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The summary of firms cash book for the year ended 31-12-2014.

Receipts Rs. Payments Rs.
Opening balance Establishment charges 12,000
Cashin hand 750 Motor car expenses 5,000
Cash at bank 6,250 Printing and stationery 350
Audit fees Postage and telegram 150
A,s client 45,000 Subscription for journal 300
B,s client 25,000 Library books 750
Office equipment 3,750
Fees for other services : Travelling and conveyance 1,250
A,s client 20,000 Membership fees 200
B,s client 10,000 Drawings::
Miscellaneous income 250 A 25,000
B 20,000

Clients Disbursement

Accounts 750
Cashin hand 1,250
Cash at bank 36,500
1,07,250 1,07,250

Additional information :

1) Provide the depreciation at the rates-motor car 20%, on office equipment
15%, library books 10%, furniture 10% p.a.

2) Outstanding audit fee as on 31-12-2014-A,s client Rs. 3,000 and B,s client
Rs.1,000.

3) Establishment charges are outstanding to the extent of Rs. 500 as on
31-12-2014.

4) The profit is to be shared in the ratioof 2 : 1. 14
OR
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B) A,B and C were in partners sharing profits and losses in the ratio of 4 : 3 : 1
respectively. On 31-12-2011 they agreed to convert their business into a
limited company. On which date India limited was formed to take over the
running business of partnership firm when the Balance Sheet of the firm was

as follows.
Liabilities Rs. Assets Rs.
Capital Accounts : Land and building 1,80,000
A 2,00,000 Machinery 1,20,000
B 1,50,000 Debtors 1,50,000
C 1,30,000 Stock 1,30,000
Loan from bank 40,000 Cash 20,000
Sundry creditors 80,000
6,00,000 6,00,000
The company took over the following assets at valuation stated below :
Land and building 2,20,000
Machinery 1,10,000
Debtors 1,40,000
Stock 1,20,000
Goodwill 40,000

The company also agreed to take over creditors at Rs. 77,000 but not took
over loan from bank which was totally paid by the partnership firm. The
company paid purchase consideration as Rs. 3,36,000 in fully paid shares of
Rs.10 each and balance in cash. The expenses amounted to Rs. 5,000 which
was paid by the partnership firm. The partnership firm sold the shares received
from the company for Rs. 3,40,000. Prepare Realisation Account, New Co. A/c,
Shares in New Co. A/c and Cash Account in the books of partnership firm. 14




DR AR SLR-Y -4

Seat
No.
B.Com. — | (Semester — I) Examination, 2015
BUSINESS ECONOMICS (CGPA)
Day and Date : Monday, 26-10-2015 Max. Marks : 70

Time : 2.30 p.m. t0 5.00 p.m.

Instructions: 1) Allquestions are compulsory.

2) Figures to the right shows full marks.
3) Draw diagram where necessary.

1. Choose correct alternative. 14
1) Surveys are important techniques for short term forecasting.
a) Production b) Supply
c) Demand d) Stock
2) According to Marshall the concept of utility is
a) positive b) cardinal
c) ordinal d) negative
3) When Edgeworth firstly introduction the concept the indifference curve
a) 1881 b) 1981 c) 1991 d) 2011
4) The cross elasticity of sugar and salt is
a) One b) Two c) Three d) Zero
5) Who benefits the forecasting of demand ?
a) Labour b) Producer
c) Price mechanism d) None of these
6) The right of marking private property is the feature of economy.
a) Socialistic b) Closed
c) Free market d) Mix
7) According to price elasticity unit elasticity demand curve is
a) Rectangular Hyperbola b) Positive
c) Negative d) None of above
8) Under free economy is the king.
a) Seller b) Investor c) Consumer d) Producer

P.T.O.
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9) Expert opinion method is known as method.
a) Sample b) Market survey
c) Delphi d) Zero
10) There are types of income elasticity.
a) two b) three c) four d) five
11) Free market economy is controlled by system.
a) Investor b) Price c) Seller d) Finance

12) In generally the shape of indifference curve is
a) Positive b) Negative c) State d) None of above

13) Marginal rate of substitution is

a) Increasing b) Decreasing c) Stable d) All of above
14) Joel Dean published book in the year 1951.

a) Sociology b) Economics

c) Business economics d) Managerial economics

2. Give short answer :
a) Explain the subject matter of business economics. 7

b) Importance of forecasting methods. 7

3. Write short notes :

a) Defects in utility analysis. 7
b) Functions of price mechanism. 7
4. Answerany one: 14

a) State the features of free market economy.

b) Explain the types of elasticity of demand.

5. Answerany one : 14
a) Explain the methods of demand forecasting.

b) Explain the properties of indifference curve.
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Seat
No.
B.Com. - | (Semester — I) (C.G.P.A) Examination, 2015
MARATHI (Srujanrang)
Day and Date : Tuesday, 27-10-2015 Max. Marks : 70

Time : 2.30 p.m. t0 5.00 p.m.
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Seat
No.
B.Com. - | (Semester — I) (CGPA) Examination, 2015
HINDI
“Sahityadhara” Aur Vyavaharik Hindi
Day and Date : Tuesday, 27-10-2015 Max. Marks : 70

Time : 2.30 p.m. t0 5.00 p.m.

G 1) T I AT 8
2) qIE 3N for@ 37% F97 % T &1 &/

1. FrefaRea w4 @ Sfaa v ge as e & fafaw | 14
1) “Ueh URfHAT T T THINE T g |

[1951, 1961, 1971, 1981]

2) T T ok Toar 3 skl @ wmmas fea |
[1914, 1913, 1915, 1916]

3) Y U] hl T o1 Gk © |
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Seat
No.
B.Com. | (Semester — I) Examination, 2015
(CGPA)
PRINCIPLES OF MARKETING
Day and Date : Tuesday, 27-10-2015 Max. Marks : 70

Time : 2.30 p.m. t0 5.00 p.m.

Instructions: 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.

1. Choose the correct alternative from given alternatives. 14
1) is sub-dividing the market into homogeneous sub-sets of customers.
a) Departmentation b) Standardisation
c) Market segmentation d) Specialisation
2) is creation and delivery of a standard of living to society.
a) Production b) Marketing
c¢) Financing d) Planning
3) is generalised model of sales and profits trends for a product
class or category over a period of time.
a) Trade cycle b) Product life cycle
c) Price cycle d) Demand cycle
4) In analysis strength, weaknesses, opportunities and threats of the
organisation is analysed.
a) QEST b) SWOT c) Statistical d) None
5) ‘P’ of marketing mix generates revenue for the enterprise.
a) Product b) Price c) Promotion d) Place
6) is the sum total of all factors that affect marketing functions and
marketing managers ability.
a) Marketing planning b) Marketing research
c) Marketing environment d) Marketing concept
7) Modern concept of marketing is oriented.
a) Sales b) Profit
¢) Production d) Customer

P.T.O.
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8) The central theme of marketing is

a) exchange b) selling
c) earning profit d) advertising
9) The goods which are used to increase the standard of living are known as
goods.
a) Consumer b) Shopping
c) Convenience d) Luxury
10) When the brand name is legally protected it becomes
a) Productname b) Out-dated
c) Trade-mark d) None
11) In market the possession of goods is immediately given to the
buyer after sale.
a) spot b) regulated c) unregulated  d) future
12) The third stage of product life cycle is related with
a) Introduction b) Maturity c) Growth d) Decline
13) Generally the price of speciality goods are
a) Low b) High c) Medium d) Moderate
14) ‘Free service and maintenance’ during warranty period is the example of
a) direct selling b) impersonal selling
c) indirect selling d) after sale service

2. Write short answers :
a) Explain the features of marketing environment. 7
b) State the various stages in ‘product life cycle’. 7

3. Write short answers :

a) State the types of consumer goods. 7
b) SWOT technique. 7
4. Answerany one of the following questions : 14

a) State the various bases for market segmentation.

b) Define the term ‘Price’. State the various factors affecting price of a product.

5. Answerany one of the following questions : 14
a) Explain the importance of marketing as a business function and in the economy.

b) What is marketing environment ? State the various factors of macro
environment.
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B.Com. Part — | (Semester — I) (CGPA Pattern) Examination, 2015
KANNADA

Modern Prose and Poetry — |

Day and Date : Tuesday, 27-10-2015
Time : 2.30 p.m. t0 5.00 p.m.
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Seat
No.
B.Com. — | (Semester — I) (C.G.P.A.) Examination, 2015
BUSINESS MATHEMATICS
Day and Date : Wednesday, 28-10-2015 Max. Marks : 70

Time :2.30 p.m. t0 5.00 p.m.

N.B. : 1) Graph paper will be supplied on request.
2) Allquestions are compulsory.
3) Figures to the right indicate full marks.
4) Use of calculator is allowed.
5) Assume suitable data, if required.

1. Fill in the blanks from the given alternatives : 14

1) fA:B=7:9andB:C=3:5,thenA:B:Cis
a) 7:9:15 b) 21:35:45 c)7:9:5 d 7:6:5

32
2) Iog(T)is equal to

log 32 3
a) log 4 b) log 32 —log 4 c) 2 d) None of these

3) The simple interest on ¥50,000 invested for 2 years is ¥ 3,000. Then the
rate of interest is

a) 5% b) 3% c) 4% d) None of these
4) If the annuity is paid at the end of period it is called as

a) Immediate annuity b) Deferred annuity

c) Annuity due d) None of these

P.T.O.
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5) If a constant is added to each term of A.P. then the resulting sequence is

a) G.P. b) A.P.
c) Both a)andb) d) None of these

6) The value of the determinant having each element zero in the first row is

a) 1 b) 2 c) 3 d) 0

5 2
7) The value of the determinant of a matrix L 0 4} is

a) 40 b) 20 c)0 d) 8
8) In linear programming x=0 & y=0 indicate that all the points lie in the region
such that
a) x is positive, y is negative
b) x is negative, y is negative
C) X is negative, y is positive
d) x is positive, y is positive

9) The matrix having equal number of rows and columns is called as

a) Transpose of a matrix b) Null matrix
c) Column matrix d) Square matrix
10) The skew symmetric matrix contains at all diagonal element
positions.
a) 0 b) 1
c) Any number d) None of these
11) In Geometric progression the division of second term by the first term is
called as
a) Common factor b) Common difference

c) Common ratio d) None of these
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a3
12) |b 4 8| _
a3
a) 3b—8a b) 1 c) 12a d) None of these
2 -5 -2 5
+ _
13) -7 8 7 -8
(-4 -25 (-4 -10
D |_49 16 o) 114 _64
9 —-10 [0 0
° |15 40 Do o
14) log,((100) =
a) -2 b) % c) 2 d) 1
- 10a+3b
2. a) Ifa:b=2:5thenfind B5at2b - 7
b) Find x, y if 7
4 6 3 8 X
2
3|0 7|-5|9 4 [ ]: y
1
5 1 2 1 Z

3. a) Suhas borrowed #1,00,000 at 10% p.a. Simple interest. He immediately lent
the whole amount at 10% p.a. compounded annually. How much amount he
would gain at the end of 3 years. 7
b) Findt, and t, of an A.P. 7

21,18,15,12,
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4. Attemptany one out of (A) and (B).

A) i) Findthe present value of an annuity ¥ 30,000 at the end of each year for

6 years if the money is worth 9% p.a. 10
ii) Prove that: 4
[ 625 ]
lo =3.5.
95 4\/%

B) i) Findthe inverse of matrix using adjoint method. 10

1 0 -1

2 3 7

0 -5 -6
ii) Thetermsofa G.P.are 3, 6, 12,24 4

Find the sum upto 8" term.
5. Attemptany one out of (A) and (B).

A) i) Solve by Crammer’s rule 10
5x +2y +4z=8
3X+y+6z=9
7X+4y+z2=5

5 1
i) IfA= [7 2} Compute A2—9A +51. 4

B) A doctor recommends two food packets P and Q to a patient to intake vitamin A
and B. One unit of P contains 3 units of Vitamin A and 5 units of Vitamin B. One
unit of food packet Q contains 4 units of Vitamin A and 3 units of Vitamin B.

The minimum requirements of Vitamin A is 120 units and that of Vitamin B is
150 units. The cost of food packets P and Q are ¥ 500 and % 700 respectively.
Express the L.P.P. and solve it by graphical method. 14
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Seat
No.
B.Com. — | (Sem. — I) (CGPA) Examination, 2015
INSURANCE
Day and Date : Wednesday, 28-10-2015 Max. Marks : 70

Time : 2.30 p.m. t0 5.00 p.m.

Instructions : 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.

1. Choose the correct alternative and rewrite the sentences : 14

1) The Insurance Policy is contract between Insurance Company and

a) Policy Holder b) Insurance Agent
c) Surety d) Nominee
2) must present in Life Insurance Policy at the time of taking
Insurance Policy.
a) Owner b) Insurable Interest
c) Nominee d) None of the above
3) Under , premium is paid after retirement of life assured.

a) Single payment whole life policy
b) Convertible whole life policy

c) Limited payment whole life policy
d) Ordinary whole life policy

4) A Licence of Insurance Agent may renewed after year.
a) one b) two c) five d) three

5) According to principle of utmost good faith the insured should disclose the

a) Material Facts b) General information
c) Social information d) None of the above

P.T.O.
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9)

10)

~11 2 VA A

The office of the Insurance Regulatory Development Authority
(IRDA) is situated at Hydrabad.

a) Branch b) Head c) Divisional d) State Level

First step of taking Life Insurance is

a) Payment of Insurance Premium
b) To prepare Insurance Agents report
c) Tofill proposal form

)

d) Medical Examination

The Govt. of India opened insurance for Private Sector in the year

a) 1956 b) 1973 c) 1991 d) 1999

When the same property is insured with two or more insurance companies

against the same risk, then it is called as

a) Principle of Contribution

b) Principle of Indemnity

c) Principle of Co-operation
)

d) Principle of Causa-proxima

is appointed to take action against the corrupted officers in

insurance business or corporation.

a) Authority President

b) Insurance Lokpal

c) Insurance Advisory Committee
)

d) Magistrate



VA A 3 SLR-Y —11

11) is a plan of insurance which provides coverage to a number of

person under one contract.
a) Life Insurance b) Whole Life Policy

c) Group Insurance d) Endowment Policy

12) Life Insurance contract begins when

a) Selection of company

)
b) Proposal submitted to company
c) Proposal accepted by company
d) Insurance premium paid to Insurance company

13) In Life Insurance after death of insurer the amount of contract is given to

a) Nominee b) Relatives c) Daughter  d) None of these

14) In India, Insurance Act passed in the year

a) 1914 b) 1938 c) 1947 d) 1956

2. Write short notes : 14
a) Importance of Insurance

b) Functions of Insurance Agent.

3. Write short answer : 14
a) Explain the procedure of taking Life Insurance Policy.

b) State the functions of Insurance Regulatory Development Authority (IRDA).
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4. Define ‘Insurance Agent’. Explain the Code of Conduct of ‘Insurance Agent’.

OR

Define ‘Insurance’. State the nature of insurance.

5. Explain the various principles of Insurance.
OR

State the procedure of settlement of Life Insurance claim.

ST TUTR

AT : ¢) G JT ATIVIE 367,
?) ITAIHEIT 7% FoT GUT JOT G,

8. I uty fHaes faem g forer
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¥



VA A 5- SLR-Y —11

¥) T sfafei=a seam wea=m U TR T T AT,
) Th ) g EARIE g) o=
W) T fasame drargEr faderH <0 squferd o e,
) TS /T et
EVRSELIE R ISl
ESR ISR il
g) Serusht AT
&) fomn e 9 faerm wiftrercom= FRTT TFETE AY IR,
) rEn ) 9=
%) faurfi g) TSIl
) AR SaRfavame & ufeedt gre) /st 1R,

37) fomm gear o
¥) fomr gfafef=n g Tar o

)
&) TS ST WOl
)

g) JeH qurEt
¢) Tt YA TR fomT SadT WSkt &=mest G shal.
) 2RUE ) 263
+) 2R%2 g) 2]%R
R) et farfyrse Aretdm=n g fohan siferer fomm shu=amene au™ Y= diRmETdt
o1 I @ 31 TEUrATd.
31) v q <) JoREH U e

) HERA g) Tehed o aw



SLR-Y - 11 6 VA A

%0) form emmTde foha Hemigsr JTfte=eid ISR dehriaTs!

)
) fomm AreRuTe
%) fomm Teamm aftd
) e
2%) 2l forrr=ht sreft Aier o1 foh, =g ees SRt wehrar fom
H=T TeraH foeame geaor foet i
31) e =) ASfem fom
%) qg o g) eATddIe fom
93) SRR AR & B,

) HUEN FHag heaHm

§) e TS fomT FHuiehe d1et shodHal
F) TEdTE TSl FOHN I

) Tommee SuHihe TeIH®

<

93) IYfIETA foHeR =it SR gad GquaTget gog ATl a8 U Taehd

= faeft 5.

) IRE™ ) ATdaTgeRT™

%) gl g) Sl T
9¥) Rara T et Tt GHd AT

) 2R ) 2%3¢ F) LYW ) 2Ru%



VA A 7- SLR-Y - 11

2. At fot= ¥
) fom= wew
) fom wfafefi=ht .

3. dieFTd 3 foren 2%

) AR EvaT=l FHRTGA T F.
o) o zmm o forehrer rfershoomr=it Rl |,

. ‘o yfafaefi=h’ somen @, “fomn gfafaeft ardi=h sTemEtear s #=. 9%
fera

o=t =ame @, fomm= e =, 9%

v, Tt fafay = T . 9%
fera

ST ATl TohH e fovaTel shrivgdt |rm. 2%




LR i SLR-Y -12

Seat
No.
B.Com. | (Semester — 1) (C.G.P.A.) Examination, 2015
GEOGRAPHY
Economic Commercial Geography
Economic Geography (Paper — I)
Day and Date : Wednesday, 28-10-2015 Max. Marks : 70

Time : 2.30 p.m. t0 5.00 p.m.

N.B. : 1) Allquestions are compulsory.

2) Figures to the right indicate full marks.

3) Neat diagrams and maps should be drawn wherever
necessary.

4) The use of map stencil is allowed.

1. Rewrite the following sentence choosing appropriate words. 14

1) The nature of Economic Geography is

A) Static B) Dynamic C) Creative D) Changing
2) The study of economic activity is done in Geography.
A) Agriculture B) Economic C) Industrial D) Commercial
3) In magnetite percent of iron ore found.
A) 72 B) 60 C) 48 D) 70
4) country rank first in production Manganese in the world.
A) Russia B) India C) UK. D) U.S.A.
5) country is rank first in Bauxite import in the world.
A) Japan B) India C) US.A D) France
6) country rank first in production of cotton textile in the world.
A) India B) U.S.A. C) Japan D) U.K.
7) country is rank second in manganese production in the world.
A) US.A. B) Japan C) Russia D) India

P.T.O.
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8) Uraliron ore area located in country.
A) India B) Russia C) France D) U.K.
9) Industry is type of economic activities.
A) Primary B) Secondary  C) Tertiary D) Fourth
10) Durgapur Iron and Steel industry is located in the state of
India.
A) Bihar B) W. Bengal C) Orissa D) U.P.
11) In cotton textile production India stand rank in the world.
A) First B) Second C) Third D) Fourth
12) Miningisa economic activities.
A) Primary B) Secondary  C) Tertiary D) Quaternary
13) country is known as Bauxite Bate.
A) SriLanka B) Jameka
C) Surinamgiyana D) Japan
14) is a father of Economic Geography.
A) R.S. Smith B) Hetner C) Chisholm D) Marphy

2. Answer the following.
1) Branches of Economic Geography.
2) Classification of resources.

3. Answer the following.
1) Primary activities
2) Bauxite production

4. 1) Give an account on cotton textile industry in U.S.A. and India.
OR
2) State the problem of Iron and steel industry in India.

5. 1) Write on production and trading manganese in the world .
OR

2) Describe the factors affecting on localization of Indusry.

14

14

14

14
14

14
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Seat
No.

B.Com. — | (Semester — Il) (New) (CGPA) Examination, 2015
ENGLISH (Compulsory)
On Track — English Skills for Success

Day and Date : Tuesday, 20-10-2015 Max. Marks : 70
Time : 10.30 a.m. to 1.00 p.m.

Instructions: i) Allquestions are compulsory.
ii) Figures to the right indicate full marks.

1. Rewrite the following sentences by choosing the correct alternatives : 14

1) Atthe Parliament of Religions Swami Vivekanand met Protap Chunder
Mazoomdar, the chief of the

a) Indian Theists b) Brahmo Samaj
c) Theosophical Society d) Jain Community

2) When Swami Vivekanand arrived in Canada, the weather was

a) Verycold b) Humid
c) Damp d) Hot
3) Nani A. Palkhivala was a reputed Indian
a) Poet b) Jurist and economist
c) Journalist d) Scientist
4) The oldest human rights organisation, , was founded in 1839.
a) Anti-Slavery Society b) Amnesty International
c) AntiOppression Society d) Liberty
5) Building a wall is a backbreaking work, according to Dr. Kalam.
a) Brick b) Rock c) China d) High
6) was called the father of modern rocketry.
a) Dr. Abdul Kalam b) J. H. Wright
c) Wernher Von Braun d) Romain Rolland

P.T.O.
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7) Emerson uses the word ‘Brahma’ to refer to the lord of inthe
Hindu canon.
a) The universe b) Creation
c) Seven hills d) The priests

8) In the poem ‘Brahma’, the poem explains the need for in the

entire universe.

a) Oneness b) ldol worship
c) Positive attitude d) Strength
9) The moon is referred to as the in the poem ‘Full Moon’.

a) Bubble house b) Mother Goose
c) Brahma d) Goddess

10) In the modern age the moon has become more of a to rocket
experts.
a) Challenge b) Source of inspiration
c) Decisive force d) Symbol of honour

11) are words that have same pronunciation but different spellings

and meanings

a) Homographs b) Homophones
c) Synonyms d) Antonyms
12) Mount Everestis mountain in the world.
a) High b) The highest
c) Higher d) Most highest
13) Kamala has chocolates than all her friends.
a) Fewer b) Few

c) Fewest d) None of the above
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14) The speech was short and interesting.

a) Commanders-in-chief
b) Commander-in-chief’s
c) Commander’s-in-chief

d) Commander-in-chief
2. Answerany seven of the following questions intwo or three sentences. 14
1) Why was Vivekanand not prepared for the weather conditions in Chicago ?
2) Who were the different delegates present at the Parliament of Religions ?
3) Why does Palkhivala say that the world continues to be ‘less than half free’ ?
4) What kind of personality was Von Braun, according to Dr. Kalam ?
5) What are the different factors connected to ‘Flow’ ?

6) Why is the moon no longer ‘the throne of a goddess’ — Explain with reference
to the role of time in the poem ‘Full Moon’.

7) Explain the role of religion and gods in the poem ‘Brahma’.

8) What are the common factors among all successful men and women ?

3. A) Answerany two of the following questions in brief : 6
1) Summarise the points of advice that Von Braun gave to Dr. Kalam.

2) What are the differentimages in the poem ‘Brahma’ and explain how they
elaborate on the theme of the poem.

3) Explainthe theme of innocence versus experience in the poem ‘Full Moon’.

B) Attemptany two: 8

1) Draft an e-mail to be sent to the manager of Salem Chemicals, Pune, at
saleco23 @gmail.com, expressing your desire to work as a management
trainee in the HR department of the company. Inform that you are a
commerce graduate and presently studying in the final year of MBA course.
Also send a copy of the e-mail to the director of your institute at bvbsprin
@gmail.com.
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2) In response to an advertisement for the post of sub-editor, write an
application to the editor, Pune Times, Pune and send it by e-mail to
punetimesed @ rediffmail.com. Request them to refer to your CV which is
attached with the mail. Also mention that you have completed a course in

communication and journalism and have two years work experience.

3) Draft an e-mail to be sent to a candidate (email id-rakeshzh @ gmail.com)
inviting him to attend the interview for the post of Marketing Executive, in

your office.

4. Answerany one of the following : 14

a) Imagine that you are Sudesh Narang, Saras Vihar, Thane and you wish to
apply for a challenging position in a multinational company. Prepare an
impressive CV for the post of Export Manager.

b) As Brijesh Bose of Regal Apartments, Link Road, Bandra, Mumbai, prepare
a CV for the post of Project Manager in a Co-operative Bank.

5. Draft the notice of the third meeting of the staff members of Brilliant Career
Academy, 25 S.V. Road, Mahim, Mumbai and also write a seven point Agenda of

the meeting. 14
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Seat
No.
B.Com. (Part — 1) (Semester — 1) Examination, 2015
(New) (CGPA Pattern)
PRINCIPLES OF BUSINESS MANAGEMENT
Day and Date : Wednesday, 21-10-2015 Max. Marks : 70

Time : 10.30a.m. to 1.00 p.m.

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Select the most appropriate alternative from given alternatives : 14
1) Autocratic leadership style is effective in situation.
a) routine b) ordinary
C) emergency d) none of the above
2) Communication can be
a) written only b) oral only
c) both written and oral d) none of the above
3) Changeis process.
a) economic b) traditional
c) continues d) none of the above
4) A point at which costs and revenues of the enterprise are exactly equal is
called
a) return oninvestment b) ratio
c) break even point d) none of the above
5) The process of passing information from one person to another is called
a) leadership b) training
C) communication d) motivation

6) The ability to secure desirable actions from a group of the followers voluntarily
without the use of coercion is called

a) communication b) control
c) leadership d) co-ordination
7) is the checking of current performance against predetermined
performance, with a view to ensuring adequate progress.
a) Planning b) Decision-making
c) Organising d) Controlling

P.T.O.
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8) The leadership style which is based on consultation with group is called

style.
a) Autocratic b) Democratic c) Free-rein d) None of the above
9) Sending mails, letters, reports etc. are the examples of type of
communication.
a) oral b) written
c) informal d) none of the above
10) is the first step in the process of controlling.
a) performance appraisal b) corrective action
c) establishment of standards d) none of the above
11) Praise, promotion and participation are the examples of incentives.
a) financial b) non-financial

c) both financial and non-financial d) none of the above
12) Positive motivation helps to

a) high performance b) low performance
c) high labour problems d) none of the above
13) is one who knows the way, who shows the way and who goes the way.
a) leader b) society c) worker d) none of the above
14) leadership style consults its subordinates and delegates authority to
subordinates.
a) Autocratic style b) Democratic style
c) Free-rain style d) None of the above

2. Write short note on :
a) Non-financial factors of motivation.
b) Effective presentation.

3. Answer in brief :
a) Nature of Management of Change.
b) Break Even Analysis/Point technique.

4. Explain the concept ‘Leadership’. State the advantages and disadvantages of
autocratic style of leadership.

OR

Explain the concept ‘Management of Change’. State the various reasons of
resistance to change.

5. Explain in detail the PERT (Programme Evaluation and Review Technique) and
CPM (Critical Path Method) of Managerial Control Techniques.

OR
What is communication ? Explain the important forms of business writings.

14

14

14

14
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Seat
No.
B.Com. (Part — 1) (Semester — IlI) (New) (CGPA) Examination, 2015
FINANCIAL ACCOUNTING
Day and Date : Friday, 23-10-2015 Max. Marks : 70

Time : 10.30 a.m. to 1.00 p.m.

Instructions: 1) All questions arecompulsory.
2) Outof Q.4 (A) and Q. 4 (B) solve any one.
3) Outof Q.5 (A) and Q. 5 (B) solve any one.
4) Figures to the right indicate full marks.

1. Choose the correct alternative and complete the given sentence : 14

1) What is correct ?
A) Capital = Assets + Liabilities
B) Capital = Net assets
C) Net assets = Assets + Liabilities
D) Liabilities = Capital — Assets
2) The assets of a business on 315! March 1996 are worth Rs. 50,000 and its
capital is Rs. 35,000.

Its liabilities on that date shall be

A) Rs. 85,000 B) Rs. 15,000
C) Rs. 35,000 D) Rs. 40,000
3) Accounting does not record non-financial transactions because of
A) Entity concept B) Accrual concept
C) Money Measurement concept D) Double entry concept

4) According to which of the following concepts even the owner of the business
who provides capital treated as a creditor of the business ?

A) Entity concept

B) Cost concept

C) Money measurement concept
D) Convention of disclosure

P.T.O.
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5) When Del Credere Commission is involved, loss on account of bad debts
from credit sale of consigned goods will generally fall on

A) Consignee

B) Consignor

C) Both consignor and consignee equally
D) Endorser

6) According to money measurement concept, which one the following will be
recorded in the books of accounts

A) Excellent morale of workers B) Quality control in the business
C) Managing ability of the manager D) Cost of machinery

7) Contingent liability is shown in the balance sheet because of
A) Convention of consistency B) Convention of materiality
C) Convention of disclosure D) Convention of adventure
8) The policy of anticipate no profit and provide for all possible losses arises
due to convention of
A) Consistency B) Disclosure
C) Matching D) Conservatism

9) Receipts and payment account record receipt and payments of
A) Revenue nature only B) Capital nature only
C) Bothrevenue and capital nature D) Capital receipts

10) Subscriptions for the current year received during the current year are to be

A) Credited to receipts and payments account
B) Debited to income and expenditure account
C) Credited to income and expenditure account
D) Credited to revenue account

11) Subscription in arrears (given in adjustment) is shown on the

A) Credit side of income and expenditure account and assets side of balance
sheet

B) Debit side of the income and expenditure and liabilities side of the balance
sheet

C) Only in the assets side of balance sheet
D) Only in the liabilities side of balance sheet
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12)

13)

14)

2. A)

The cash and credit sales of a branch are Rs. 5,000 and Rs. 10,000 respectively.
The amount collected from debtors is Rs. 10,000. Under debtors system the
amount credited to branch will be

A) Rs. 20,000 B) Rs. 15,000
C) Rs. 25,000 D) Rs. 10,000
Capital at the beginning Rs. 8,00,000 drawings Rs. 1,80,000 capital at the

end Rs. 9,00,000 Capital introduced during the period Rs. 50,000. Net profit
IS

A) Rs. 2,00,000 B) Rs. 2,30,000
C) Rs. 2,40,000 D) Rs. 2,45,000

Cash at bank Rs. 3,000; debtors Rs. 4,000; stock Rs. 16,000; furniture
Rs. 2,000 and creditors Rs. 5,000. Find out capital

A) Rs. 12,000 B) Rs. 15,000
C) Rs. 20,000 D) Rs. 22,000

Following is the Receipts and Payment account of a recreation club for the
year ended 315t March 20009.

Receipts and Payments Accounts for the year ended 315t March, 2009

Receipts Amount Payments Amount
(Rs.) (Rs.)

To cash in Hand 8,320 By Rent of Hall 3,600
To Subscriptions 26,000 By Salaries 5,200
To Entrance Fees 3,900 By Purchase of Sports Equipment 16,640
To Sale of refreshments 9,880 By Dance Expenses 4,940
To Sale of Dance Tickets 5,850 By Supply of Refreshment 6,800
To Interests on By Honorarium 1,040
Investments @ 7% 4,550 By Sundry Expenses 3,250
By Electricity changes 1,820

By Cash at Bank 15,210

Total 58,500 Total 58,500
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Following additional information are also provided to you :

i) Following were the assets and liabilities on 315t March, 2008 :

Sports equipment Rs. 6,760, subscription in arrears Rs. 1,950, Furniture
Rs. 12,480 Liabilities — Accrued rent Rs. 780 and subscription received in

advance Rs. 520.

i) Following were the assets and liabilities on 315t March 2009 :

Sports equipments Rs. 19,760, subscription in arrear Rs. 1,690, Furniture Rs.
11,180, Liabilities — Accrued rent Rs. 390, subscription received in advance

Rs. 2,340.

i) Entrance Fees s to be capitalized.

You are required to prepare income and expenditure account for the year

ended 315t March, 2009.

B) Explain accounting principles.

3. A) Explain the following terms (3.5 marks each) :
1) Del-Credre Commission
2) Account Sales.

B) Find out credit purchases from the following particulars :

Balance of creditors on 15t Jan, 2003
Balance of creditors on 315t Dec, 2003
Cash paid to creditors

Cheques issued to creditors

Returns outwards

Discount received from creditors

B/P given to creditors

B/P dishonored

B/R endorsed to creditors

B/R endorsed to creditors dishonored

Cash purchases

Rs.
60,000
48,000

2,40,000
80,000
10,000
7,200
17,000
4,000
6,000
2,400
1,00,000 7
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4. A) Delhi Head Office supplies goods to its branch at Kanpur at Invoice Price
which is cost plus 50%. All Cash received by the branch is remitted to Delhi
and all branch expenses are paid by the head office. From the fallowing
particulars related to Kanpur branch for the year 2006 prepare : Branch Stock
Account, Branch Debtors Account, Branch Adjustment Account and branch
profit and loss account in the books of the head office.

Particulars Rs.
Stock with branch on 1-1-06 (at invoice price) 60,000
Branch Debtors on 1-1-06 12,000
Petty Cash balance on 1-1--06 10
Goods received from head office (at invoice price) 1,86,000
Goods returned to head office 3,000
Credit sales less returns 84,000

Allowances to customer at selling price (Already adjusted

while invoicing) 2,000
Cash received from Debtors 90,000
Discount allowed to Debtors 2,400

Expenses (Cash paid by head office) :

Salaries 2,400
Rent 24,000
Petty Cash 1,000 27,400
Cash sales 1,04,000
Stock with Branch on 31-12-06 (at invoice price) 54,000

Petty Cash balance on 31-12-06 100 14
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4. B) H.Ltd. forwarded on 1-7-2002, 100 bicycles to Vasu of Hyderabad to be sold

5. A)

on behalf of H.Ltd. The cost of each bicycle was Rs. 150 but the invoice price
was Rs. 200. H.Ltd. incurred Rs. 1,000 on freight and insurance. Vasu received
the consignment on 14-7-2002 and accepted a three months draft drawn upon
him by H.Ltd. for Rs. 10,000. Vasu paid Rs. 400 as rent and Rs. 250 as
insurance and by 31-12-2002 had disposed of 80 bicycles at Rs. 205 each.
Vasu is entitled to a commission of 5 percent on sales including a del-credre
commission of 1 percent. Vasu sold 20 bicycles on credit and was not able to
recover sales proceeds of 5 bicycles because of insolvency of the debtors.

Prepare Ledger Accounts to record the above transactions in the books of
H.Ltd. and Vasu. 14

Prepare Income and Expenditure Account for the year ended 315t March 2009
and the Balance Sheet as at 31-3-2009 from the following information related
to Somnath Welfare Society.

Receipts and Payments Account of Somnath Welfare Society
for the year ended 315t March, 2009

Receipts Amount Payments Amount
Rs. Rs.
To Balance b/d 19,800 By Salaries and Wages 1,42,802
To Subscriptions By 10% Investments (Face value
2007 -08—-Rs. 8,910 13,750) Purchased on 1-10-08 11,000
2008-09-Rs. 2,31,000 By Rates and Taxes 6,809
2009-10-Rs. 2,750 2,42,660 By Office Expenses 8,602
To Legacies 7,920 By Entertainment Material 64,020
To Donations for Building 46,200 By Telephone Charges 2,860
To Sale of Old Furniture 6,600 By Advance for Building 16,500
(at book value) By Internet Charge 1,320
To Miscellaneous Receipts 79,408 By Balance c/d 1,48,675
Total 4,02,588 Total 4,02,588

Additional Information :

i) On 315t March 2008, the society has following assets and liabilities :
Assets :

10% Investment Rs. 1,21,000 (face value Rs. 1,65,000), Furniture Rs. 88,000,
Musical instruments Rs. 13,420, Machinery Rs. 61,600, Fax Machines
Rs. 18,700, Subscriptionin arrears Rs. 17,600.
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Liabilities :

i) Creditors for entertainment material Rs. 5,500, subscription received in
advance Rs. 2,310 and building fund Rs. 55,000.

i) Charge depreciation @ 20% on furniture, machinery and fax machines.

i) On 315t March, 2009 entertainment material was valued at Rs. 28,732. Internet
charges was outstanding Rs. 1,650.

iv) Each year subscription is paid by 110 members, each paying Rs. 2,310.
v) Payment for entertainment material includes 2,200 for previous year. 14

5. B) You are given the Balance Sheet of Kumar on 31-03-2012, a cash account for
the year ended 31-03-2013 and additional information. You are required to
prepare a Trading, Profit and Loss Account for the year ended 31-03-2013
and Balance Sheet as on that date.

Balance Sheet as on 31-03-2012

Liabilities Amount Assets Amount
Creditors 20,000 Cash 5,000
Bills Payables 40,000 Banks 10,000
Capitals 1,00,000 Bills Receivables 20,000
Debtors 25,000
Stock 20,000
Furniture 10,000
Plant 70,000
1,60,000 1,60,000
Cash Account for the year ended 31-03-2013

Receipts Amounts Payments Amounts
To Balance b/d By Drawings 12,000
Cash 5,000 By Wages 20,000
Bank 10,000 15,000 By Payments to creditors 35,000
To Cash sales 35,000 By Bills paid 60,000
To Collection from debtors 80,000 By Sundry exps. 30,000
To Bills receivables 75,000 By Rent, rates , taxes 20,000

By Balance b/d

Cash 3,000

Bank 25,000 28,000

2,05,000 2,05,000
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Additional Information :
Particulars
Debtors as on 31-03-2013
Creditors as on 31-03-2013
Bills receivables as on 31-03-2013
Bills payables as on 31-03-2013
Stock in trade as on 31-03-2013
Bills receivables in hand dishonoured during the year
Bills payables dishonoured
Bills receivables endorsed
Bills receivables endorsed dishonoured
Discount allowed
Discount received

Amount
40,000
25,000
30,000
50,000
30,000
50,000

2,000
15,000
2,000
1,000
2,000

14
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Seat
No.
B.Com. — | (Semester - II) Examination, 2015
(CGPA Pattern)
BUSINESS ECONOMICS (Paper - 1) (New)
Day and Date : Monday, 26-10-2015 Max. Marks : 70

Time : 10.30a.m. t0 1.00 p.m.

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw diagram wherever necessary.

1. Choose the correct alternative given below : 14

1) The functional relationship between input and output is called as

a) Production function b) Demand function

c) Cost function d) None of these
2) B Total cost

Number of goods produced

a) Average cost b) Marginal cost

c) Fixed cost d) Variable cost
3) Production means .

a) Creation of price b) Creation of cost

c) Creation of utility d) Creation of profit
4) Price discrimination is the feature of market.

a) Perfect competition b) Monopoly

c) Monopolistic competition d) None of these
5) The law of variable proportions assumes situation.

a) Short run b) Longrun

¢) Short run and long run d) None of these
6) Homogeneous product is the feature of market.

a) Perfect competition b) Oligopoly

c) Monopolistic competition d) None of these

P.T.O.
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7) firstly introduced the concept of Quasi Rent.
a) Ricardo b) Dr.Marshall c¢) Keynes d) J.S. Mill

8) Product differentiation is done by the producer in market.
a) Monopoly b) Perfect competition
c) Monopolistic competition d) None of these

9) Where the total cost and total revenue of the firm equals it is called as

a) Indifference curve b) Isoquants curve
c) Break-even point d) None of these
10) means the labour paid remuneration for their work.
a) Wages b) Profit c) Rent d) Interest
11) ‘Break-Even Point’ analysis is useful in :
a) Short period b) Long period
c) Very long period d) None of these
12) Inthe perfect competition market demand curve is always parallel to
a) X axis b) Y axis c) Origin d) None of these
13) introduced the innovation theory of profit.
a) Dr. Marshall b) Prof. Schumpeter
c) Prof. Hawley d) Prof. Knight
14) introduced the ‘Liquidity preference theory of interest’.
a) J.M.Keynes b) Dr.Marshall c) Ricardo d) None of these
2. Write short answer of the following questions :
A) Explain the features of monopoly market. 7
B) Explain the innovation theory of profit. 7

3. Write short notes :

A) Production function. 7
B) QuasiRent. 7
4. Answerany one: 14

A) Explain the law of returns to scale.
B) Explain the features of perfect competition.

5. Answerany one : 14
A) Explain the importance of Break-Even Analysis.
B) Explain the Liquidity Preference theory of interest.
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